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QUESTION 1

When implementing video streaming from the Internet to an always on device, it is best to employ which of the following
services to minimize latency issues?

A. QoS
B. EIGRP
C. PPTP
D. OSPF

Correct Answer: A

QUESTION 2
A network administrator is configuring PXE boot to reimage a computer lab.

Which of the following must be configured on the existing DHCP server to specify the IP address of the imaging server
from which the clients must boot?

A. Scope
B. Reservation
C. Option
D. Lease

Correct Answer: C

QUESTION 3

The application layer in the TCP/IP model is comparable to which of the following layers in the OSI model?
A. Layer 2

B. Layer 5

C. Layer 6

D. Layer 7

Correct Answer: D
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QUESTION 4

Which of the following is a path vector routing protocol?
A.RIP

B. EIGRP

C.ISIS

D. OSPF

E. BGP

Correct Answer: E

Because BGP involves a table of IP networks or "prefixes" which designate network reachability among autonomous
systems (AS).

QUESTION 5

An administrator would like to decrease the load time of common websites that employees review daily. Which of the
following can be installed?

A. Load balancing
B. VPN concentrator
C. Caching server
D. Fault tolerance

Correct Answer: C
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